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ZREVABEMEZKESX(Y) = acos(wt +6), HAa,wABHSH, 62
E2, ) NIRME IS HHIENTE.
NFEAEERNNES
]t =1t =1s, X(t) = acos(wtj+ ) = Acos(w + O)E—FEN L E;
B RN ZEBIN—IREIY = 0, = /4, BEIFARR
#x;(1) = acos(wt; + 9) ENEMmBEERE (KXFHF)
B &t=1,0 = 0¥%%E, x(t) = acos(wt; + 6,) F—PEEL
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B EHARRLERRESX(Y) = acos(wt + 6)

MEFTE: X (1) = acos(wt + 07), X (t) = Acos(wt + 65),X3(t) =
acos(wt + thetay), x, (1) = a cos(w’[ + 0,) B S EIR 0N E 1 R 2L
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110 127""
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X17X27" Xm7t17t2,...,t )
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Example ({AZ FIFEHLF )

ZERMASMEIFFI{X(N),n=1,2,...} . FEt=n%, BEHFLE, it
EX(n) = L&t =n W%, EHRRE, BIEX(N) =0. 2H

P{X(n) =1} = p. P{X(N) = 0} = 1 — p = O, I FIZMHFIIAI—4E. —4E5
=S iy AR

X(n) 2 E
X(n) \ 0 \ 1
P [g=1-p|p
BiEEN, B
0, xX<0
Fosn) =P(X(N) <x) =40, 0<x<1=/pUx—1)+aU(x)]
1, x>1
Hrh, Ux) RBLEHERER, EXHUX) = {é Xﬁfm‘)
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ZERAZFEIFF{X(N),n=1,2,...} » FEt=nKZ, BtLE, iC
EX(n) = L&t =n %, EHRRE, BIEX(N) =0, 2H

P{X(n) =1} = p, P{X(N) = 0} =1 — p = O, ITEZBEHFFI N — 4. —4E4if
RO E R

— R B E R

foxen) = 280 pisx 1) 4 ao)
S, 500 HEADRHEE, R MRS, BIX(n), X(ne) AL

F(X1,X2; N1, Ng) = P[X(N1) < X, X(Ng) < Xo] = P[X(Ng) < Xq] - PX(Ng) < Xy

=pP?U (X — 1,% — 1) + PAU(X; — 1,X3) + PAU(Xy, Xs — 1) 4+ G?U(Xy, X2)
R BRE RN
f(X1,X2; N1, Na) = P?0(X;—1,Xo—1)+PAF (X1 — 1, X9) +PAS (X1, Xo—1)+0%5 (X1, X2)

Hep, U(x,y) = UX)U(Y) 2THBMNMBRRE, 5(X,Y) =6(X)6(y) I 4B
R
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KPWE—PER, ALK, SREMNEMEPER—X, BERD, X4

FE—TEZEMN t YEENEZE

xty_ {3 mEEEmELR
el mBRtNZEEARK

RKIXAFEATFE A —HE 9370 R HUiR

X(hefE | 5 | e
PX(t)=x) [2/3]1/3

R

X, < &
T<x <eh
X, > eh

)

= owhhn O

F(Xl;tl) = ]P(X(tl) < Xl) — {
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